*Electronic Journal of Differential Equations*, Vol. 2017 (2017), No. 84, pp. 1–14. ISSN: 1072-6691. URL: http://ejde.math.txstate.edu or http://ejde.math.unt.edu

## MULTIPLE SOLUTIONS OF A *p*-KIRCHHOFF EQUATION WITH SINGULAR AND CRITICAL NONLINEARITIES

QIN LI, ZUODONG YANG, ZHAOSHENG FENG

ABSTRACT. In this article, we explore the existence of multiple solutions for a p-Kirchhoff equation with the nonlinearity containing both singular and critical terms. By means of the concentration compactness principle and Ekeland's variational principle, we obtain two positive weak solutions.

### 1. INTRODUCTION

Consider the p-Kirchhoff equation

$$-M(||u||^p)\Delta_p u = \lambda u^{p^*-1} + \rho(x)u^{-\gamma}, \quad x \in \Omega,$$
  
$$u = 0, \quad x \in \partial\Omega,$$
  
(1.1)

where  $\Omega$  is a bounded domain in  $\mathbb{R}^N$ ,  $M(s) = a + bs^m$ ,  $\Delta_p u = \operatorname{div}(|\nabla u|^{p-2}\nabla u)$  is the *p*-Laplacian operator with  $1 , and <math>\lambda > 0$  is a real parameter. Here,  $\gamma \in (0,1)$  is a constant,  $\rho(x) : \Omega \to \mathbb{R}$  is a given non-negative function in  $L^p(\Omega)$ , and  $p^* = Np/(N-p)$  is the critical Sobolev exponent.

Problem (1.1) displays some meaningful features. It is nonlocal due to the presence of the Kirchhoff-type coefficient M which makes the equation no longer a pointwise identity. Moreover, it involves singular and critical terms. To the best of our knowledge, not much has been known on the Kirchhoff nonlocal structure with the presence of singular and critical nonlinearities in quasilinear elliptic problems.

Recently, considerable attention has been given to the existence of positive solutions by variational methods for the problem [3, 2, 6, 1]:

$$-M\Big(\int_{\Omega} |\nabla u|^2 dx\Big) \Delta u = f(x, u), \quad x \in \Omega,$$
  
$$u = 0, \quad x \in \partial\Omega,$$
  
(1.2)

and the stationary analogue of the Kirchhoff equation [4]:

$$u_{tt} - M\Big(\int_{\Omega} |\nabla_x u|^2 dx\Big) \Delta_x u = f(x, t), \qquad (1.3)$$

where M(s) = a + bs, a > 0 and b > 0. Equation (1.3) was proposed by Kirchhoff [1] as an extension of the classical D'Alembert's wave equation for free vibrations of elastic strings. Sun et al [8, 9] considered the existence of solutions to a related

<sup>2010</sup> Mathematics Subject Classification. 35J60, 35B09, 35J91.

Key words and phrases. Weak solution; p-Kirchhoff equation; p-Laplacian;

quasilinear elliptic equation; variational principle; concentration compactness principle. C2017 Texas State University.

Submitted January 6, 2016. Published March 27, 2017.

singular elliptic problem. By using the concentration compactness principle [5] and Ekeland's variational principle [7], the existence of two positive weak solutions was presented when the parameter  $\lambda$  is small enough.

Since problem (1.1) contains a critical term, it becomes difficult for us to apply variational methods directly and does not have the compact embedding  $W^{1,p}(\Omega) \hookrightarrow L^{p^*}(\Omega)$ . It is also noted that the singular term leads to the non-differentiability of the associated functional  $I_{\lambda}$  on  $W_0^{1,p}(\Omega)$ , so the critical point theory becomes invalid. Based on this fact, in this study we attempt to use the concentration compactness principle, Vitali's theorem as well as Ekeland's variational principle to explore the existence of multiple solutions of (1.1).

Following the traditional notation, we let  $X = W_0^{1,p}(\Omega)$  be the standard Sobolev space endowed with the norm

$$||u|| = \left(\int_{\Omega} |\nabla u|^p dx\right)^{1/p}$$

and  $||u||_{\sigma}$  denotes the norm in  $L^{\sigma}(\Omega)$  by

$$||u||_{\sigma} = \left(\int_{\Omega} |u|^{\sigma} dx\right)^{1/\sigma}.$$

Let  ${\cal S}$  be the best Sobolev constant as

$$S = \inf \left\{ \frac{\|u\|^p}{\|u\|_{p^*}^p}, \, u \in X \text{ and } u \neq 0 \right\}.$$
 (1.4)

Then, the infimum is never achieved if  $\Omega \neq \mathbb{R}^N$ .

For  $u \in X$ , we define  $I_{\lambda} \colon X \to \mathbb{R}$  by

$$I_{\lambda}(u) = \frac{1}{p}\widehat{M}(||u||^p) - \frac{\lambda}{p^*} \int_{\Omega} |u|^{p^*} dx - \frac{1}{1-\gamma} \int_{\Omega} \rho(x) |u|^{1-\gamma} dx,$$

where  $\widehat{M}(s) = \int_0^s M(t)dt = as + \frac{b}{m+1}s^{m+1}$ . By analyzing the associated minimization problems for the functional  $I_{\lambda}$ , one can study weak solutions for (1.1).

Note that if u is a weak solution of (1.1), then u satisfies

$$M(||u||^p) \int_{\Omega} |\nabla u|^p dx - \lambda \int_{\Omega} |u|^{p^*} dx - \int_{\Omega} \rho(x) |u|^{1-\gamma} dx = 0.$$

So we define a set

$$\Lambda = \Big\{ u \in X | M(||u||^p) \int_{\Omega} |\nabla u|^p dx - \lambda \int_{\Omega} |u|^{p^*} dx - \int_{\Omega} \rho(x) |u|^{1-\gamma} dx = 0 \Big\}.$$

We consider

$$h_u(t) = \frac{1}{p} \widehat{M}(t^p ||u||^p) - \frac{\lambda t^{p^*}}{p^*} \int_{\Omega} |u|^{p^*} dx - \frac{t^{1-\gamma}}{1-\gamma} \int_{\Omega} \rho(x) |u|^{1-\gamma} dx$$

A straightforward calculation gives

$$h'_{u}(t) = M(t^{p} ||u||^{p}) t^{p-1} ||u||^{p} - \lambda t^{p^{*}-1} \int_{\Omega} |u|^{p^{*}} dx - t^{-\gamma} \int_{\Omega} \rho(x) |u|^{1-\gamma} dx$$

and

$$h_u''(t) = a(p-1)t^{p-2} ||u||^p + b[p(m+1)-1]t^{p(m+1)-2} ||u||^{p(m+1)} - \lambda(p^*-1)t^{p^*-2} \int_{\Omega} |u|^{p^*} dx + \gamma t^{-\gamma-1} \int_{\Omega} \rho(x)|u|^{1-\gamma} dx.$$

So we have

 $h_u''(1) = a(p+\gamma-1)||u||^p + b[p(m+1)+\gamma-1]||u||^{p(m+1)} - \lambda(p^*+\gamma-1)||u||_{p^*}^{p^*}.$ 

It is natural to split  $\Lambda$  into three parts corresponding to the local minima, the local maxima and the point of inflection. Accordingly, we define

$$\Lambda^{+} = \{ u \in \Lambda | h''(u)(1) > 0 \},$$
  

$$\Lambda^{0} = \{ u \in \Lambda | h''(u)(1) = 0 \},$$
  

$$\Lambda^{-} = \{ u \in \Lambda | h''(u)(1) < 0 \}.$$

Throughout this paper, we make the following assumptions:

- (A1)  $M(s) = a + bs^m$ , where a, b, m > 0;
- (A2)  $1 and <math>0 < \gamma < 1$ ;
- (A3)  $\rho : \Omega \to \mathbb{R}$  is a given non-negative and nontrivial function in  $L^p(\Omega)$ , and there exists some  $\Theta > 0$  such that if  $\|\rho\|_p \leq \Theta$ , then  $\Lambda^- \neq \emptyset$ .

We summarize our main results as follows.

**Theorem 1.1.** Assume that conditions (A1)–(A3) hold. Then there exists  $\lambda^* > 0$ small enough such that for any  $\lambda \in (0, \lambda^*)$ , there exist at least two weak positive solutions  $u^1$ ,  $u^2 \in X$  to problem (1.1). Moreover,  $u^1$  is a local minimizer of  $I_{\lambda}$  in X with  $I_{\lambda}(u^1) < 0$ , and  $u^2$  is a minimizer of  $I_{\lambda}$  on  $\Lambda^-$  with  $I_{\lambda}(u^2) \ge 0$ .

The remainder of this article is organized as follows. In Section 2, we present some preliminary results, and Section 3 is dedicated to the proof of main results.

## 2. Preliminaries

**Lemma 2.1.** The energy functional  $I_{\lambda}$  has a local minimum c in X with c < 0.

*Proof.* By Hölder's and Sobolev inequalities, there exist positive constants  $C_0$  and  $C_1$  such that

$$\int_{\Omega} \rho(x) |u|^{1-\gamma} dx \leq \|\rho\|_{p} \|u\|_{p^{*}}^{1-\gamma} |\Omega|^{\frac{(p-1)p^{*}-p(1-\gamma)}{pp^{*}}} \leq C_{0} \|\rho\|_{p} \|u\|_{p^{*}}^{1-\gamma} \leq C_{1} \|\rho\|_{p} \|u\|^{1-\gamma}.$$

From (1.4), we have

$$\int_{\Omega} |u|^{p^*} dx \le S^{-\frac{p^*}{p}} \left( \int_{\Omega} |\nabla u|^p dx \right)^{p^*/p}, \quad u \in X.$$
(2.1)

Thus, it gives

$$I_{\lambda}(u) \geq \frac{a}{p} \|u\|^{p} + \frac{b}{p(m+1)} \|u\|^{p(m+1)} - \frac{\lambda}{p^{*}} S^{-\frac{p^{*}}{p}} \|u\|^{p^{*}} - C_{2} \|\rho\|_{p} \|u\|^{1-\gamma}$$
$$\geq \frac{2}{p} \sqrt{\frac{ab}{m+1}} \|u\|^{\frac{p(m+2)}{2}} - \frac{\lambda}{p^{*}} S^{-\frac{p^{*}}{p}} \|u\|^{p^{*}} - C_{2} \|\rho\|_{p} \|u\|^{1-\gamma}.$$

Since  $1 - \gamma < \frac{p(m+2)}{2} < p^*$ , there exists  $\lambda_1 > 0$  such that for any  $\lambda \in (0, \lambda_1)$ , there are  $R, \xi > 0$  satisfying  $I_{\lambda}(u) \geq \xi$  for all  $u \in X$  with ||u|| = R and  $I_{\lambda}(u)$  is bounded from below on  $B_R = \{u \in X | ||u|| \leq R\}$ . Then,  $c = \inf_{u \in B_R} I_{\lambda}(u)$  is well-defined for the fixed  $\lambda \in (0, \lambda_1)$ . Since  $0 < 1 - \gamma < 1$ , we have  $I_{\lambda}(t\sigma) < 0$  for all  $\sigma \neq 0$  and small t > 0. Thus, we arrive at  $c = \inf_{u \in B_R} I_{\lambda}(u) < 0$ .

**Lemma 2.2.** There exists  $u^1 \in B_R$  satisfying  $I_{\lambda}(u^1) = c$ .

*Proof.* From Lemma 2.1, there exists a minimizing sequence  $\{u_k\} \subset B_R$  such that  $I_{\lambda}(u_k) \to c < 0$ . Since  $I_{\lambda}(u_k) = I_{\lambda}(|u_k|)$ , we can assume  $u_k \ge 0$ . Due to  $||u|| \le R$ , there exists a subsequence (still denoted by  $\{u_k\}$ ) satisfying

$$u_k \rightharpoonup u^1$$
 in X.

From (2.1) we know that  $u_k$  is bounded in  $L^{p^*}(\Omega)$ . Since X is self-reflexive, and  $B_R$  is closed and convex, we see  $u^1 \in B_R$ .

By the concentration-compactness principle [5], there exist non-negative bounded measures  $\eta$  and  $\mu$  such that

$$|u_k|^{p^*} \rightharpoonup \eta$$
 and  $|\nabla u_k|^p \rightharpoonup \mu$ 

weakly in the sense of measures. Furthermore, there exists a countable index set J, a collection of points  $\{x_j\}_{j\in J} \subset \overline{\Omega}$  and two numbers  $\mu_j$ ,  $\eta_j > 0$  such that

$$\eta = |u^1|^{p^*} + \sum_{j \in J} \eta_j \delta_{x_j}$$
 and  $\mu \ge |\nabla u^1|^p + \sum_{j \in J} \mu_j \delta_{x_j}$ 

where  $\delta_{x_j}$  is the Dirac measure concentrated at  $x_j$ , and  $\eta_j$  and  $\mu_j$  satisfy

$$S\eta_j^{p/p^*} \le \mu_j.$$

Letting  $k \to \infty$  leads to

$$\int_{\Omega} |\nabla u_k|^p dx \to \int_{\Omega} d\mu \ge \int_{\Omega} |\nabla u^1|^p dx + \sum_{j \in J} S \eta_j^{p/p^*},$$

and

$$\int_{\Omega} |u_k|^{p^*} dx \to \int_{\Omega} d\eta = \int_{\Omega} |u^1|^{p^*} dx + \sum_{j \in J} \eta_j.$$
(2.2)

By Vitali's theorem, we find

$$\lim_{k \to \infty} \int_{\Omega} \rho(x) |u_k|^{1-\gamma} dx = \int_{\Omega} \rho(x) |u^1|^{1-\gamma} dx.$$

Then, we deduce that

$$\begin{split} c &= \lim_{k \to \infty} \Big\{ \frac{1}{p} \widehat{M}(\|u_k\|^p) - \frac{\lambda}{p^*} \int_{\Omega} |u_k|^{p^*} dx - \frac{1}{1 - \gamma} \int_{\Omega} \rho(x) |u_k|^{1 - \gamma} dx \Big\} \\ &= \lim_{k \to \infty} \Big\{ \frac{a}{p} \|u_k\|^p + \frac{b}{p(m+1)} \|u_k\|^{p(m+1)} - \frac{\lambda}{p^*} \int_{\Omega} |u_k|^{p^*} dx \\ &- \frac{1}{1 - \gamma} \int_{\Omega} \rho(x) |u_k|^{1 - \gamma} dx \Big\} \\ &\geq \frac{a}{p} \Big( \int_{\Omega} |\nabla u^1|^p dx + \sum_{j \in J} S \eta_j^{p/p^*} \Big) + \frac{b}{p(m+1)} \Big( \int_{\Omega} |\nabla u^1|^p dx + \sum_{j \in J} S \eta_j^{p/p^*} \Big)^{m+1} \\ &- \frac{\lambda}{p^*} \Big( \int_{\Omega} |u^1|^{p^*} dx + \sum_{j \in J} \eta_j \Big) - \frac{1}{1 - \gamma} \int_{\Omega} \rho(x) |u^1|^{1 - \gamma} dx \\ &\geq \frac{1}{p} \widehat{M}(||u^1||^p) - \frac{\lambda}{p^*} \int_{\Omega} |u^1|^{p^*} dx - \frac{1}{1 - \gamma} \int_{\Omega} \rho(x) |u^1|^{1 - \gamma} dx \\ &+ \frac{a}{p} \sum_{j \in J} S \eta_j^{p/p^*} + \frac{b}{p(m+1)} \Big( \sum_{j \in J} S \eta_j^{p/p^*} \Big)^{m+1} - \frac{\lambda}{p^*} \sum_{j \in J} \eta_j. \end{split}$$

That is,

$$c \ge \frac{1}{p}\widehat{M}(\|u^1\|^p) - \frac{\lambda}{p^*} \int_{\Omega} |u^1|^{p^*} dx - \frac{1}{1-\gamma} \int_{\Omega} \rho(x) |u^1|^{1-\gamma} dx.$$

From the definition of c, it gives

$$c \le \frac{1}{p}\widehat{M}(\|u^1\|^p) - \frac{\lambda}{p^*} \int_{\Omega} |u^1|^{p^*} dx - \frac{1}{1-\gamma} \int_{\Omega} \rho(x) |u^1|^{1-\gamma} dx.$$

Thus, we have

$$c = \frac{1}{p}\widehat{M}(\|u^1\|^p) - \frac{\lambda}{p^*}\int_{\Omega}|u^1|^{p^*}dx - \frac{1}{1-\gamma}\int_{\Omega}\rho(x)|u^1|^{1-\gamma}dx.$$

Suppose that  $J \neq \emptyset$ . By way of contradiction, from (2.2) we obtain

$$\int_{\Omega} d\eta > \int_{\Omega} |u^1|^{p^*} dx,$$
$$\sum_{j \in J} \eta_j = \int_{\Omega} d\eta - \int_{\Omega} |u^1|^{p^*} dx > 0.$$

On the other hand, one can find that

$$c \leq \frac{1}{p}\widehat{M}(||u^{1}||^{p}) - \frac{\lambda}{p^{*}} \int_{\Omega} |u^{1}|^{p^{*}} dx - \frac{1}{1 - \gamma} \int_{\Omega} \rho(x) |u^{1}|^{1 - \gamma} dx$$
  
$$\leq c - \frac{a}{p} \sum_{j \in J} S \eta_{j}^{p/p^{*}} - \frac{b}{p(m+1)} \Big( \sum_{j \in J} S \eta_{j}^{p/p^{*}} \Big)^{m+1} + \frac{\lambda}{p^{*}} \sum_{j \in J} \eta_{j}$$
  
$$\leq c - \frac{a}{p} \sum_{j \in J} S \eta_{j}^{p/p^{*}} + \frac{\lambda}{p^{*}} \sum_{j \in J} \eta_{j}.$$

If for all  $j \in J$  and  $0 < \eta_j < 1$ , we have  $\eta_j^{p/p^*} > \eta_j$  and

$$c \le c - \frac{a}{p} \sum_{j \in J} S \eta_j^{p/p^*} + \frac{\lambda}{p^*} \sum_{j \in J} \eta_j \le c + \left(\frac{\lambda}{p^*} - \frac{aS}{p}\right) \sum_{j \in J} \eta_j.$$

This yields a contradiction when  $\lambda < ap^*S/p$ . If there exists a subsequence  $\{\eta_j\}$   $(j \in K = \{1, 2, ...\})$  such that  $\eta_j \ge 1$ , where K is a finite set, we choose  $\lambda < \widetilde{\lambda_2}$ , and let  $\widetilde{\lambda_2}$  satisfy

$$\left(\frac{\lambda_2}{p^*} - \frac{aS}{p}\right)\sum_{j\in J}\eta_j + \frac{\lambda_2}{p^*}\sum_{\eta_j\geq 1}\eta_j - \frac{a}{p}\sum_{\eta_j\geq 1}S\eta_j^{p/p^*} < 0.$$

Then, we see that

$$c \leq c - \frac{a}{p} \sum_{j \in J} S \eta_j^{p/p^*} + \frac{\lambda}{p^*} \sum_{j \in J} \eta_j$$
  
$$\leq c + \left(\frac{\lambda}{p^*} - \frac{aS}{p}\right) \sum_{j \in J} \eta_j + \frac{\lambda}{p^*} \sum_{\eta_j \geq 1} \eta_j - \frac{a}{p} \sum_{\eta_j \geq 1} S \eta_j^{p/p^*} < c.$$

This leads to another contradiction. Consequently,  $J = \emptyset$  by choosing  $\lambda < \lambda_2 = \min\{\frac{ap^*S}{p}, \widetilde{\lambda_2}\}$ .

**Lemma 2.3.** The functional  $I_{\lambda}$  is coercive on  $\Lambda$ .

*Proof.* For any  $u \in \Lambda$ , it holds

$$M(||u||^{p})||u||^{p} - \lambda \int_{\Omega} |u|^{p^{*}} dx - \int_{\Omega} \rho(x)|u|^{1-\gamma} dx = 0.$$

Then, we have

$$\begin{split} I_{\lambda}(u) &= \frac{1}{p} \widehat{M}(\|u\|^{p}) - \frac{\lambda}{p^{*}} \int_{\Omega} |u|^{p^{*}} dx - \frac{1}{1-\gamma} \int_{\Omega} \rho(x) |u|^{1-\gamma} dx \\ &= \frac{1}{p} \widehat{M}(\|u\|^{p}) - \frac{1}{p^{*}} M(\|u\|^{p}) ||u||^{p} + \left(\frac{1}{p^{*}} - \frac{1}{1-\gamma}\right) \int_{\Omega} \rho(x) |u|^{1-\gamma} dx \\ &\geq a \left(\frac{1}{p} - \frac{1}{p^{*}}\right) \|u\|^{p} + b \left[\frac{1}{p(m+1)} - \frac{1}{p^{*}}\right] \|u\|^{p(m+1)} \\ &+ \left(\frac{1}{p^{*}} - \frac{1}{1-\gamma}\right) C_{1} ||\rho||_{p} \|u\|^{1-\gamma}. \end{split}$$

Since  $0 < 1 - \gamma < 1 < p < p(m+1) < p^*$ , we deduce that  $\lim_{||u|| \to \infty} I_{\lambda}(u) = +\infty$ .

**Lemma 2.4.** There exists  $\lambda_3 > 0$ , such that  $\Lambda^0 = \{0\}$  for all  $\lambda \in (0, \lambda_3)$ .

*Proof.* By contradiction, we suppose that there exists some  $u \in \Lambda^0 \setminus \{0\}$  satisfying

$$a(p+\gamma-1)\|u\|^{p} + b[p(m+1)+\gamma-1]\|u\|^{p(m+1)} = \lambda(p^{*}+\gamma-1)\|u\|^{p^{*}}_{p^{*}}$$
(2.3)

and

$$a\frac{p^*-p}{p^*+\gamma-1}\|u\|^p + b\frac{p^*-p(m+1)}{p^*+\gamma-1}\|u\|^{p(m+1)} = \int_{\Omega} \rho(x)|u|^{1-\gamma}dx.$$
 (2.4)

By (2.1) and (2.3), it follows Young's inequality that

$$2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}\|u\|^{\frac{p(m+2)}{2}} \le \lambda(p^*+\gamma-1)S^{-\frac{p^*}{p}}\|u\|^{p^*}.$$

Since  $\frac{p(m+2)}{2} < p^*$ , it follows that

$$\|u\| \ge \left\{\frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}}{\lambda(p^*+\gamma-1)}S^{p^*/p}\right\}^{\frac{2}{2p^*-p(m+2)}}.$$

By (2.1) and (2.4), and using Young's inequality again, we obtain

$$\frac{2\sqrt{ab(p^*-p)[p^*-p(m+1)]}}{p^*+\gamma-1}\|u\|^{\frac{p(m+2)}{2}} \le C_1\|\rho\|_p\|u\|^{1-\gamma}.$$

When  $\frac{p(m+2)}{2} > 1 > 1 - \gamma > 0$ , we see that

$$\|u\| \leq \left\{ \frac{C_1(p^* + \gamma - 1) \|\rho\|_p}{2\sqrt{ab(p^* - p)[p^* - p(m+1)]}} \right\}^{\frac{2}{p(m+2) - 2(1-\gamma)}}$$

This yields a contradiction if we choose

$$\lambda < \lambda_3 = \frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}S^{p^*/p}}{p^*+\gamma-1} \\ \times \left\{\frac{2\sqrt{ab(p^*-p)[p^*-p(m+1)]}}{C_1(p^*+\gamma-1)\|\rho\|_p}\right\}^{\frac{2p^*-p(m+2)}{p(m+2)-2(1-\gamma)}}.$$

Consequently, for all  $\lambda \in (0, \lambda_3)$ , it holds  $\Lambda^0 = \{0\}$ .

**Lemma 2.5.**  $\Lambda^-$  is closed in X.

*Proof.* Let  $\{u_n\} \subset \Lambda^-$  satisfy  $u_n \to u$  in X. There exists a subsequence (still denoted by  $\{u_n\}$ ) such that  $u_n \to u$  a.e. in  $\Omega$ , and  $\lim_{n\to\infty} ||u_n||_{p^*} = ||u||_{p^*}$ . By the definition of  $\Lambda^-$ , it gives

$$a(p+\gamma-1)\|u_n\|^p + b[p(m+1)+\gamma-1]\|u_n\|^{p(m+1)} - \lambda(p^*+\gamma-1)\|u_n\|^{p^*}_{p^*} < 0.$$

So we have

$$\lim_{n \to \infty} \left\{ a(p+\gamma-1) \int_{\Omega} |\nabla u_n|^p dx + b[p(m+1)+\gamma-1] \left( \int_{\Omega} |\nabla u_n|^p dx \right)^{m+1} - \lambda(p^*+\gamma-1) \int_{\Omega} |u_n|^{p^*} dx \right\} \le 0.$$

Clearly, we see that  $u \in \Lambda^0 \cup \Lambda^-$ . If  $\Lambda^-$  is not closed, then  $u \in \Lambda^0$ . By Lemma 2.4, we obtain  $u \equiv 0$ .

On the other hand, for any  $\{u_n\} \subset \Lambda^-$  we have

$$\begin{split} &\int_{\Omega} |u_n|^{p^*} dx \\ &> \frac{a(p+\gamma-1)}{\lambda(p^*+\gamma-1)} \int_{\Omega} |\nabla u_n|^p dx + \frac{b[p(m+1)+\gamma-1]}{\lambda(p^*+\gamma-1)} \Big( \int_{\Omega} |\nabla u_n|^p dx \Big)^{m+1} \\ &\geq \frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}}{\lambda(p^*+\gamma-1)} \Big( \int_{\Omega} |\nabla u_n|^p dx \Big)^{\frac{m+2}{2}} \\ &\geq \frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}}{\lambda(p^*+\gamma-1)} \Big[ S\Big( \int_{\Omega} |u_n|^{p^*} dx \Big)^{p/p^*} \Big]^{\frac{m+2}{2}} \\ &= \frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}}{\lambda(p^*+\gamma-1)} S^{\frac{m+2}{2}} \Big( \int_{\Omega} |u_n|^{p^*} dx \Big)^{\frac{p(m+2)}{2p^*}}. \end{split}$$

That is,

$$\left(\int_{\Omega} |u_n|^{p^*} dx\right)^{1/p^*} > \left\{\frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}}{\lambda(p^*+\gamma-1)}S^{\frac{m+2}{2}}\right\}^{\frac{2}{2p^*-p(m+2)}}.$$

As  $n \to \infty$ , one can see that

$$\|u\|_{p^*} \ge \left\{\frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}}{\lambda(p^*+\gamma-1)}\right\}^{\frac{2}{2p^*-p(m+2)}} S^{\frac{m+2}{2p^*-p(m+2)}} > 0.$$
(2.5)

This yields a contradiction to the fact u = 0. Thus,  $u \in \Lambda^-$  and  $\Lambda^-$  is closed in X.

**Lemma 2.6.** There exists  $\lambda_4 > 0$  such that for any  $u \in \Lambda^-$  and any  $\lambda \in (0, \lambda_4)$ ,  $I_{\lambda}(u) \geq 0$  holds.

*Proof.* By contradiction, we suppose that there exists  $\tilde{u} \in \Lambda^-$  satisfying  $I_{\lambda}(\tilde{u}) < 0$ . That is,

$$\frac{1}{p}\widehat{M}(\|\widetilde{u}\|^p) - \frac{\lambda}{p^*}\int_{\Omega}|\widetilde{u}|^{p^*}dx - \frac{1}{1-\gamma}\int_{\Omega}\rho(x)|\widetilde{u}|^{1-\gamma}dx < 0.$$

Note that

$$\frac{1}{p}\widehat{M}(\|\widetilde{u}\|^p) > \frac{1}{p(m+1)}[a\|\widetilde{u}\|^p + b\|\widetilde{u}\|^{p(m+1)}] = \frac{1}{p(m+1)}M(\|\widetilde{u}\|^p)\|\widetilde{u}\|^p.$$

So we have

$$\frac{1}{p(m+1)}M(\|\widetilde{u}\|^p)\|\widetilde{u}\|^p - \frac{\lambda}{p^*}\int_{\Omega}|\widetilde{u}|^{p^*}dx - \frac{1}{1-\gamma}\int_{\Omega}\rho(x)|\widetilde{u}|^{1-\gamma}dx < 0$$

and

$$\lambda \Big[ \frac{1}{p(m+1)} - \frac{1}{p^*} \Big] \int_{\Omega} |\tilde{u}|^{p^*} dx - \Big[ \frac{1}{1-\gamma} - \frac{1}{p(m+1)} \Big] \int_{\Omega} \rho(x) |\tilde{u}|^{1-\gamma} dx < 0.$$

By (2.1), we obtain

$$\lambda \Big[ \frac{1}{p(m+1)} - \frac{1}{p^*} \Big] \int_{\Omega} |\widetilde{u}|^{p^*} dx < \Big[ \frac{1}{1-\gamma} - \frac{1}{p(m+1)} \Big] C_0 \|\rho(x)\|_p \|\widetilde{u}\|_{p^*}^{1-\gamma}.$$

This leads to

$$\|\widetilde{u}\|_{p^*}^{p^*+\gamma-1} < \frac{p^*[p(m+1)+\gamma-1]C_0\|\rho\|_p}{\lambda[p^*-p(m+1)](1-\gamma)}.$$

By choosing

$$\lambda_{4} = \left\{ \frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}}{p^{*}+\gamma-1} S^{\frac{m+2}{2}} \right\}^{\frac{2(p^{*}+\gamma-1)}{p(m+2)-2(1-\gamma)}} \\ \times \left\{ \frac{[p^{*}-p(m+1)](1-\gamma)}{p^{*}[p(m+1)+\gamma-1]C_{0} \|\rho\|_{p}} \right\}^{\frac{2p^{*}-p(m+2)}{p(m+2)-2(1-\gamma)}},$$

for all  $\lambda < \lambda_4$  we have

$$\|u\|_{p^*} < \left\{\frac{2\sqrt{ab(p+\gamma-1)[p(m+1)+\gamma-1]}}{\lambda(p^*+\gamma-1)}\right\}^{\frac{2}{2p^*-p(m+2)}} S^{\frac{m+2}{2p^*-p(m+2)}}.$$

This yields a contradiction to inequality (2.5). Hence, the proof of Lemma 2.6 is complete.  $\hfill \Box$ 

**Lemma 2.7.** If  $u \in \Lambda^-$ , then there exist an  $\epsilon > 0$  and a differentiable function f = f(w) > 0, where  $w \in W_0^{1,p}(\Omega)$  and  $||w|| < \epsilon$  such that f(0) = 1 and  $f(w)(u + w) \in \Lambda^-$  for all  $w \in W_0^{1,p}(\Omega)$ .

*Proof.* Define  $F: \mathbb{R} \times W_0^{1,p}(\Omega) \to \mathbb{R}$  by

$$F(t,w) = at^{p+\gamma-1} \int_{\Omega} |\nabla(u+w)|^p dx + bt^{p(m+1)+\gamma-1} \left( \int_{\Omega} |\nabla(u+w)|^p dx \right)^{m+1} - \lambda t^{p^*+\gamma-1} \int_{\Omega} |u+w|^{p^*} dx - \int_{\Omega} \rho(x) |u+w|^{1-\gamma} dx.$$

Since  $u \in \Lambda^- \subset \Lambda$ , we have F(1,0) = 0, and

$$F_t(1,0) = a(p+\gamma-1) \|u\|^p + b[p(m+1)+\gamma-1] \|u\|^{p(m+1)}$$
$$-\lambda(p^*+\gamma-1) \|u\|^{p^*}_{p^*} < 0.$$

According to the implicit function theorem at the point (1,0), there exist an  $\overline{\epsilon} > 0$  and a continuous function f = f(w) > 0, where  $w \in W_0^{1,p}(\Omega)$  and  $||w|| < \overline{\epsilon}$ , such that

$$f(0) = 1$$
 and  $f(w)(u+w) \in \Lambda$  for all  $w \in W_0^{1,p}(\Omega)$ .

Clearly, we can take  $\epsilon > 0$  sufficiently small  $(< \overline{\epsilon})$  satisfying

$$f(w)(u+w) \in \Lambda^- \quad \forall w \in W_0^{1,p}(\Omega) \text{ and } \|w\| < \epsilon.$$

**Lemma 2.8.** For all  $\lambda > 0$ , problem (1.1) has a weak solution  $u^2$  in X.

*Proof.* From (A3) and Lemma 2.3, we know  $\Lambda^- \neq \emptyset$  and  $c_- = \inf_{u \in \Lambda^-} I_{\lambda}(u) > -\infty$  is well-defined. By Ekeland's variational principle, there exists a minimizing sequence  $\{v_k\} \subset \Lambda^-$  satisfying

$$I_{\lambda}(v_k) < c_- + \frac{1}{k}$$
 and  $I_{\lambda}(v_k) \le I_{\lambda}(v) + \frac{1}{k} ||v - v_k|| \quad \forall v \in \Lambda^-.$ 

Since  $I_{\lambda}(v_k) = I_{\lambda}(|v_k|)$ , we assume  $v_k \ge 0$  in  $\Omega$  and (up to a subsequence if necessary) it converges to a function, denoted by  $u^2 \ge 0$ . Then, we have

$$v_k \rightharpoonup u^2$$
 in X and  $v_k \rightarrow u^2$  a.e. in  $\Omega$ .

Let  $u = v_k \in \Lambda^-$ ,  $w = t\varphi$ ,  $\varphi \in W_0^{1,p}(\Omega)$ , and t > 0 be small enough. There exists a differentiable function  $f_k(t) = f_k(t\varphi)$  satisfying

$$f_k(0) = 1$$
 and  $f_k(t)(v_k + t\varphi) \in \Lambda^-$ .

Since  $\Lambda^- \subset \Lambda$ , it follows that

$$f_k^p(t)M(f_k^p(t)||v_k + t\varphi||^p)||v_k + t\varphi||^p - \lambda f_k^{p^*}(t) \int_{\Omega} |v_k + t\varphi|^{p^*} dx$$
$$- f_k^{1-\gamma}(t) \int_{\Omega} \rho(x)|v_k + t\varphi|^{1-\gamma} dx = 0$$

and

$$M(\|v_k\|^p)\|v_k\|^p - \lambda \int_{\Omega} |v_k|^{p^*} dx - \int_{\Omega} \rho(x)|v_k|^{1-\gamma} dx = 0.$$

By Ekeland's variational principle, we have

$$\begin{split} &\frac{1}{k} [|f_{k}(t) - 1| \|v_{k}\| + tf_{k}(t) \|\varphi\|] \\ &\geq \frac{1}{k} [f_{k}(t)(v_{k} + t\varphi) - v_{k}] \\ &\geq I_{\lambda}(v_{k}) - I_{\lambda} [f_{k}(t)(v_{k} + t\varphi)] \\ &= \frac{1}{p} \widehat{M}(\|v_{k}\|^{p}) - \frac{1}{p} \widehat{M}(f_{k}^{p}(t) \|v_{k} + t\varphi\|^{p}) + \frac{\lambda f_{k}^{p^{*}}(t)}{p^{*}} \int_{\Omega} |v_{k} + t\varphi|^{p^{*}} dx \\ &- \frac{\lambda}{p^{*}} \int_{\Omega} |v_{k}|^{p^{*}} dx + \frac{f_{k}^{1-\gamma}(t)}{1-\gamma} \int_{\Omega} \rho(x) |v_{k} + t\varphi|^{1-\gamma} dx - \frac{1}{1-\gamma} \int_{\Omega} \rho(x) |v_{k}|^{1-\gamma} dx \\ &= \frac{1}{p} \widehat{M}(\|v_{k}\|^{p}) - \frac{1}{p} \widehat{M}(f_{k}^{p}(t) \|v_{k} + t\varphi\|^{p}) + \left(\frac{\lambda f_{k}^{p^{*}}(t)}{p^{*}} - \frac{\lambda}{p^{*}}\right) \int_{\Omega} |v_{k} + t\varphi|^{p^{*}} dx \\ &+ \frac{\lambda}{p^{*}} \Big[ \int_{\Omega} |v_{k} + t\varphi|^{p^{*}} dx - \int_{\Omega} |v_{k}|^{p^{*}} dx \Big] \\ &+ \frac{1}{1-\gamma} [f_{k}^{1-\gamma}(t) - 1] \int_{\Omega} \rho(x) |v_{k} + t\varphi|^{1-\gamma} dx \\ &+ \frac{1}{1-\gamma} \Big[ \int_{\Omega} \rho(x) |v_{k} + t\varphi|^{1-\gamma} dx - \int_{\Omega} \rho(x) |v_{k}|^{1-\gamma} dx \Big]. \end{split}$$

Dividing it by t > 0 and letting  $t \to 0$ , we find

$$\begin{aligned} &\frac{1}{k} [|f'_k(0)| \|v_k\| + \|\varphi\|] \\ &\geq -M(\|v_k\|^p) f'_k(0) \|v_k\|^p - M(\|v_k\|^p) \int_{\Omega} |\nabla v_k|^{p-2} \nabla v_k \cdot \nabla \varphi dx \end{aligned}$$

$$\begin{split} &+\lambda f_k'(0) \int_{\Omega} |v_k|^{p^*} dx + \lambda \int_{\Omega} v_k^{p^*-1} \varphi dx + f_k'(0) \int_{\Omega} \rho(x) |v_k|^{1-\gamma} dx \\ &+ \int_{\Omega} \rho(x) v_k^{-\gamma} \varphi dx \\ &= -f_k'(0) [M(\|v_k\|^p) \|v_k\|^p - \lambda \int_{\Omega} |v_k|^{p^*} dx - \int_{\Omega} \rho(x) |v_k|^{1-\gamma} dx] \\ &- M(\|v_k\|^p) \int_{\Omega} |\nabla v_k|^{p-2} \nabla v_k \cdot \nabla \varphi dx + \lambda \int_{\Omega} v_k^{p^*-1} \varphi dx + \int_{\Omega} \rho(x) v_k^{-\gamma} \varphi dx \\ &= -M(\|v_k\|^p) \int_{\Omega} |\nabla v_k|^{p-2} \nabla v_k \cdot \nabla \varphi dx + \lambda \int_{\Omega} v_k^{p^*-1} \varphi dx + \int_{\Omega} \rho(x) v_k^{-\gamma} \varphi dx. \end{split}$$

So we have

$$\begin{split} &\int_{\Omega} \rho(x) v_k^{-\gamma} \varphi dx \\ &\leq \frac{1}{k} [\|f_k'(0)\| \|v_k\| + \|\varphi\|] + M(\|v_k\|^p) \int_{\Omega} |\nabla v_k|^{p-2} \nabla v_k \cdot \nabla \varphi dx - \lambda \int_{\Omega} v_k^{p^*-1} \varphi dx. \end{split}$$

Since there exists  $C_3 > 0$  such that  $|f'_k(0)| \le C_3$ , as  $k \to \infty$  it follows from Fatou's Lemma that

$$\int_{\Omega} \rho(x)(u^2)^{-\gamma} \varphi dx \le \lim_{k \to \infty} \inf \int_{\Omega} \rho(x) v_k^{-\gamma} \varphi dx$$
$$\le M(\|u^2\|^p) \int_{\Omega} |\nabla u^2|^{p-2} \nabla u^2 \cdot \nabla \varphi dx - \lambda \int_{\Omega} (u^2)^{p^*-1} \varphi dx.$$

Note that  $\varphi$  is arbitrary. The above inequality also holds for  $-\varphi$ :

$$\int_{\Omega} \rho(x) (u^2)^{-\gamma} \varphi dx \ge M(\|u^2\|^p) \int_{\Omega} |\nabla u^2|^{p-2} \nabla u^2 \cdot \nabla \varphi dx - \lambda \int_{\Omega} (u^2)^{p^*-1} \varphi dx.$$

Thus, we see that

$$M(\|u^2\|^p)\int_{\Omega}|\nabla u^2|^{p-2}\nabla u^2\cdot\nabla\varphi dx-\lambda\int_{\Omega}(u^2)^{p^*-1}\varphi dx-\int_{\Omega}\rho(x)(u^2)^{-\gamma}\varphi dx=0,$$

where  $\varphi \in W_0^{1,p}(\Omega)$ . This implies that  $u^2$  is a weak solution of (1.1).

**Lemma 2.9.** There exists  $\lambda_5 > 0$  such that  $u^2 \in \Lambda^-$  for any  $\lambda \in (0, \lambda_5)$ .

*Proof.* For any  $u \in \Lambda^- \subset \Lambda$ , we have

$$\begin{split} I_{\lambda}(u) &= \frac{1}{p} \widehat{M}(\|u\|^{p}) - \frac{\lambda}{p^{*}} \int_{\Omega} |u|^{p^{*}} dx - \frac{1}{1-\gamma} \int_{\Omega} \rho(x) |u|^{1-\gamma} dx \\ &= \frac{1}{p} \widehat{M}(\|u\|^{p}) - \frac{\lambda}{p^{*}} \int_{\Omega} |u|^{p^{*}} dx \\ &- \frac{1}{1-\gamma} \Big[ M(\|u\|^{p}) \|u\|^{p} - \lambda \int_{\Omega} |u|^{p^{*}} dx \Big] \\ &= \frac{1}{p} \widehat{M}(\|u\|^{p}) - \frac{1}{1-\gamma} M(\|u\|^{p}) \|u\|^{p} - \lambda \Big(\frac{1}{p^{*}} - \frac{1}{1-\gamma}\Big) \int_{\Omega} |u|^{p^{*}} dx \\ &= -\frac{a(p+\gamma-1)\|u\|^{p}}{p(1-\gamma)} - \frac{b[p(m+1)+\gamma-1]\|u\|^{p(m+1)}}{p(m+1)(1-\gamma)} \\ &- \lambda \Big(\frac{1}{p^{*}} - \frac{1}{1-\gamma}\Big) \int_{\Omega} |u|^{p^{*}} dx \end{split}$$

$$< -\frac{1}{p(m+1)(1-\gamma)} \Big[ a(p+\gamma-1) ||u||^p + b[p(m+1)+\gamma-1] ||u||^{p(m+1)} \Big] - \lambda \Big( \frac{1}{p^*} - \frac{1}{1-\gamma} \Big) \int_{\Omega} |u|^{p^*} dx < \frac{1}{p(m+1)(1-\gamma)} \lambda (p^*+\gamma-1) \int_{\Omega} |u|^{p^*} dx - \lambda \Big( \frac{1}{p^*} - \frac{1}{1-\gamma} \Big) \int_{\Omega} |u|^{p^*} dx = \lambda \Big[ \frac{p^*+\gamma-1}{p(m+1)(1-\gamma)} - \frac{1}{p^*} + \frac{1}{1-\gamma} \Big] \int_{\Omega} |u|^{p^*} dx = \lambda (p^*+\gamma-1) \Big[ \frac{1}{p(m+1)(1-\gamma)} + \frac{1}{p^*(1-\gamma)} \Big] \int_{\Omega} |u|^{p^*} dx.$$

One can see  $c_{-} = \inf_{u \in \Lambda^{-}} I_{\lambda}(u) < \frac{1}{N} (aS)^{N/p}$  if we choose  $\lambda < \widetilde{\lambda_{5}}$ , where  $\widetilde{\lambda_{5}}$  satisfies

$$\widetilde{\lambda_5}(p^* + \gamma - 1) \left[ \frac{1}{p(m+1)(1-\gamma)} + \frac{1}{p^*(1-\gamma)} \right] \int_{\Omega} |u|^{p^*} dx < \frac{1}{N} (aS)^{N/p}.$$

Now, we show that  $u^2 \in \Lambda^-$ . Since  $\Lambda^-$  is closed and  $v_k \rightarrow u^2$  in X, we only need to prove  $||v_k|| \rightarrow ||u^2||$ . Similar to the proof of the existence of  $u^1$ , we assume that

$$|\nabla v_k|^p \rightharpoonup \mu, \quad |v_k|^{p^*} \rightharpoonup \eta,$$
  
$$\eta = |u^2|^{p^*} + \sum_{j \in J} \eta_j \delta_{x_j}, \quad \mu \ge |\nabla u^2|^p + \sum_{j \in J} \mu_j \delta_{x_j},$$

where  $\eta$  and  $\mu$  are non-negative bounded measures on  $\overline{\Omega}$ , and numbers  $\mu_j > 0$  and  $\eta_j > 0$  satisfy  $\mu_j \ge S \eta_j^{p/p^*}$ . So we have

$$\int_{\Omega} |\nabla v_k|^p dx \to \int_{\Omega} d\mu < +\infty$$
(2.6)

and

$$\int_{\Omega} |v_k|^{p^*} dx \to \int_{\Omega} d\eta < +\infty.$$

Choose  $\psi \in C_0^{\infty}(\mathbb{R}^N)$  with  $0 \leq \psi \leq 1$ , and take  $\psi = 1$  if |x| < 1 and  $\psi = 0$  if  $|x| \geq 2$  and  $\|\nabla \psi\|_{\infty} \leq 2$ .

We fix  $\epsilon > 0$  and  $j \in J$  and set

$$\psi_{\epsilon,j} = \psi\Big(\frac{x-x_j}{\epsilon}\Big).$$

Lemma (2.8) leads to

$$M(\|v_k\|^p) \int_{\Omega} |\nabla v_k|^{p-2} \nabla v_k \cdot \nabla \varphi dx - \lambda \int_{\Omega} v_k^{p^*-1} \varphi dx - \int_{\Omega} \rho(x) v_k^{-\gamma} \varphi dx = o_k(1)$$

as  $k \to \infty$ , for all  $\varphi \in W_0^{1,p}(\Omega)$ . Since  $\psi_{\epsilon,j}v_k \in W_0^{1,p}(\Omega)$ , we have

$$M(\|v_k\|^p) \int_{\Omega} |\nabla v_k|^{p-2} \nabla v_k \cdot \nabla(\psi_{\epsilon,j} v_k) dx - \lambda \int_{\Omega} v_k^{p^*-1}(\psi_{\epsilon,j} v_k) dx - \int_{\Omega} \rho(x) v_k^{-\gamma}(\psi_{\epsilon,j} v_k) dx = o_k(1).$$

A direct calculation gives

$$M(\|v_k\|^p) \int_{\Omega} |\nabla v_k|^p \psi_{\epsilon,j} dx$$
  
=  $-M(\|v_k\|^p) \int_{\Omega} |\nabla v_k|^{p-2} v_k (\nabla v_k \cdot \nabla \psi_{\epsilon,j}) dx$  (2.7)  
 $+ \lambda \int_{\Omega} v_k^{p^*} \psi_{\epsilon,j} dx + \int_{\Omega} \rho(x) v_k^{1-\gamma} \psi_{\epsilon,j} dx + o_k(1).$ 

From (2.6) and (A1), we obtain

$$\lim_{k \to \infty} \sup M(\|v_k\|^p) < +\infty.$$

By Hölder's inequality,

$$\begin{split} \lim_{k \to \infty} \sup |M(||v_k||^p) \int_{B(x_j, 2\epsilon)} |\nabla v_k|^{p-2} v_k (\nabla v_k \cdot \nabla \psi_{\epsilon,j}) dx| \\ &\leq \lim_{k \to \infty} C_4 \int_{B(x_j, 2\epsilon)} |\nabla v_k|^{p-1} |v_k \nabla \psi_{\epsilon,j}| dx \\ &\leq \lim_{k \to \infty} C_4 \Big( \int_{B(x_j, 2\epsilon)} |\nabla v_k|^p dx \Big)^{\frac{p-1}{p}} \Big( \int_{B(x_j, 2\epsilon)} |v_k \nabla \psi_{\epsilon,j}|^p dx \Big)^{1/p} \\ &\leq C_5 \Big( \int_{B(x_j, 2\epsilon)} |u^2|^{p^*} dx \Big)^{1/p^*} \Big( \int_{B(x_j, 2\epsilon)} |\nabla \psi_{\epsilon,j}|^N dx \Big)^{1/N} \\ &\leq C_6 (\int_{B(x_j, 2\epsilon)} |u^2|^{p^*} dx)^{1/p^*}. \end{split}$$

As  $k \to \infty$ , from (2.7) it follows that

$$\begin{split} a \int_{B(x_j, 2\epsilon)} \psi_{\epsilon, j} d\mu \\ &\leq M(\|v_k\|^p) \int_{B(x_j, 2\epsilon)} \psi_{\epsilon, j} d\mu \\ &\leq C_6 (\int_{B(x_j, 2\epsilon)} |u^2|^{p^*} dx)^{1/p^*} + \lambda \int_{B(x_j, 2\epsilon)} \psi_{\epsilon, j} d\eta + \int_{B(x_j, 2\epsilon)} \rho(x) (u^2)^{1-\gamma} \psi_{\epsilon, j} dx. \end{split}$$

Letting  $\epsilon \to 0$ , we have  $a\mu_j \leq \lambda \eta_j$  and  $\lambda \eta_j \geq aS \eta_j^{p/p^*}$ . So,  $\eta_j = 0$  or  $\eta_j \geq (\frac{aS}{\lambda})^{N/p}$ . Next, we show that  $\eta_j \geq (\frac{aS}{\lambda})^{N/p}$  is impossible. By contradiction, we suppose that there exists some  $j_0$  satisfying  $\eta_{j_0} \geq (\frac{aS}{\lambda})^{N/p}$ . Then

$$\begin{split} c_{-} &= \lim_{k \to \infty} I_{\lambda}(v_{k}) \\ &= \lim_{k \to \infty} \left\{ I_{\lambda}(v_{k}) - \frac{1}{p(m+1)} \Big[ M(\|v_{k}\|^{p}) \|v_{k}\|^{p} - \lambda \int_{\Omega} |v_{k}|^{p^{*}} dx \\ &- \int_{\Omega} \rho(x) |v_{k}|^{1-\gamma} dx \Big] \right\} \\ &= \lim_{k \to \infty} \left\{ a \Big[ \frac{1}{p} - \frac{1}{p(m+1)} \Big] \|v_{k}\|^{p} + \lambda \Big[ \frac{1}{p(m+1)} - \frac{1}{p^{*}} \Big] \int_{\Omega} |v_{k}|^{p^{*}} dx \\ &+ \Big[ \frac{1}{p(m+1)} - \frac{1}{1-\gamma} \Big] \int_{\Omega} \rho(x) |v_{k}|^{1-\gamma} dx \Big\} \end{split}$$

$$\begin{split} &\geq a \Big[ \frac{1}{p} - \frac{1}{p(m+1)} \Big] \int_{\Omega} |\nabla u^{2}|^{p} dx + a \Big[ \frac{1}{p} - \frac{1}{p(m+1)} \Big] \sum_{j \in J} \mu_{j} \\ &\quad + \lambda \Big[ \frac{1}{p(m+1)} - \frac{1}{p^{*}} \Big] \int_{\Omega} |u^{2}|^{p^{*}} dx + \lambda \Big[ \frac{1}{p(m+1)} - \frac{1}{p^{*}} \Big] \sum_{j \in J} \eta_{j} \\ &\quad + \Big[ \frac{1}{p(m+1)} - \frac{1}{1-\gamma} \Big] \int_{\Omega} \rho(x) |u^{2}|^{1-\gamma} dx \\ &\geq a \Big[ \frac{1}{p} - \frac{1}{p(m+1)} \Big] S \Big( \frac{aS}{\lambda} \Big)^{N/p^{*}} + \lambda \Big[ \frac{1}{p(m+1)} - \frac{1}{p^{*}} \Big] \Big( \frac{aS}{\lambda} \Big)^{N/p} \\ &\quad + \lambda \Big[ \frac{1}{p(m+1)} - \frac{1}{p^{*}} \Big] \|u^{2}\|_{p^{*}}^{p^{*}} + \Big[ \frac{1}{p(m+1)} - \frac{1}{1-\gamma} \Big] C_{0} \|\rho\|_{p} \|u^{2}\|_{p^{*}}^{1-\gamma} \\ &= \frac{1}{N} (aS)^{N/p} \lambda^{1-\frac{N}{p}} + \lambda \Big[ \frac{1}{p(m+1)} - \frac{1}{p^{*}} \Big] \|u^{2}\|_{p^{*}}^{p^{*}} \\ &\quad + \Big[ \frac{1}{p(m+1)} - \frac{1}{1-\gamma} \Big] C_{0} \|\rho\|_{p} \|u^{2}\|_{p^{*}}^{1-\gamma} \\ &\geq \frac{1}{N} (aS)^{N/p}. \end{split}$$

Take  $\widetilde{\lambda_5} > 0$  such that the last inequality holds for  $\lambda < \widetilde{\lambda_5}$ . This yields a contradiction with the fact  $c_{-} < \frac{1}{N} (aS)^{N/p}$ . Consequently, choosing  $\lambda_5 = \min\{\widetilde{\lambda_5}, \widetilde{\lambda_5}\}$ , we find  $\eta_j = 0, |v_k|^{p^*} \rightarrow \eta = |u^2|^{p^*}$ , and  $u^2 \in \Lambda^-$  for all  $\lambda \in (0, \lambda_5)$ .

# 3. Proof of Theorem 1.1

Let  $\lambda^* = \min\{\lambda_i\}$  (i = 1, 2, 3, 4, 5). It is easy to see that Lemmas 2.1-2.9 hold for all  $\lambda \in (0, \lambda^*)$ . We only need to prove that  $u^1$  is a weak positive solution of (1.1) and  $u^2 > 0$  in  $\Omega$ .

From Lemma 2.2, we see that

$$\min_{t \in \mathbb{R}} I_{\lambda}(u^{1} + t\varphi) = I_{\lambda}(u^{1} + t\varphi)|_{t=0} = I_{\lambda}(u^{1}), \quad \forall \varphi \in W_{0}^{1,p}(\Omega).$$

This implies that

$$M(\|u^1\|^p) \int_{\Omega} |\nabla u^1|^{p-2} \nabla u^1 \cdot \nabla \varphi dx - \lambda \int_{\Omega} (u^1)^{p^*-1} \varphi dx - \int_{\Omega} \rho(x) (u^1)^{-\gamma} \varphi dx = 0,$$

for all  $\varphi \in W_0^{1,p}(\Omega)$ . Thus,  $u^1$  is a weak solution of (1.1). Since  $u^1 \ge 0$  for any  $\varphi \in W_0^{1,p}(\Omega)$ ,  $\varphi \ge 0$  and t > 0, we have  $0 \le L$ ,  $(u^1 + t\varphi) = L$ ,  $(u^1)$ 

$$0 \leq I_{\lambda} \left( u^{1} + t\varphi \right) - I_{\lambda} \left( u^{1} \right)$$
  
$$= \frac{1}{p} \widehat{M} \left( \| u^{1} + t\varphi \|^{p} \right) - \frac{1}{p} \widehat{M} \left( \| u^{1} \|^{p} \right) + \frac{\lambda}{p^{*}} \left[ \int_{\Omega} |u^{1}|^{p^{*}} dx - \int_{\Omega} |u^{1} + t\varphi|^{p^{*}} dx \right]$$
  
$$+ \frac{1}{1 - \gamma} \left[ \int_{\Omega} \rho(x) |u^{1}|^{1 - \gamma} dx - \int_{\Omega} \rho(x) |u^{1} + t\varphi|^{1 - \gamma} dx \right]$$
  
$$\leq \frac{1}{p} \widehat{M} \left( \| u^{1} + t\varphi \|^{p} \right) - \frac{1}{p} \widehat{M} \left( \| u^{1} \|^{p} \right).$$

That is,

$$\frac{1}{p}\widehat{M}\Big(\|u^1+t\varphi\|^p)-\frac{1}{p}\widehat{M}(\|u^1\|^p\Big)\geq 0\quad \forall\varphi\in W^{1,p}_0(\Omega)\text{ and all }\varphi\geq 0.$$

Dividing by t > 0 and letting  $t \to 0$  yields

$$M(||u^1||^p) \int_{\Omega} |\nabla u^1|^{p-2} \nabla u^1 \cdot \nabla \varphi dx \ge 0.$$

This implies that  $u^1 \in W_0^{1,p}(\Omega)$  and

$$-M(||u^1||^p)\Delta_p u \ge 0 \quad \text{in } \Omega.$$

By the strong maximum principle, we deduce that  $u^1 > 0$  in  $\Omega$ . From Lemmas 2.8 and 2.9, we see that the solution  $u^2$  is the minimizer of  $I_{\lambda}$  in  $\Lambda^-$ . Then, one can see that  $u^2 > 0$  in  $\Omega$  by the same arguments as the proof of positivity of  $u^1$ . Consequently, the proof of Theorem 1.1 is complete.

Acknowledgments. This work is supported by the NSF of China (Nos. 11571093 and 11471164), and partially supported by NSF of Education Bureau of Anhui Province (No. KJ2017A432).

### References

- C. Y. Chen, Y. C. Kuo, T. F. Wu; The Nehari manifold for a Kirchhoff type problem involving sign-changing weight functions, J. Differential Equations, 250 (2011), 1876-1908.
- [2] F. J. Corréa, G. M. Figueiredo; On an elliptic equation of p-Kirchhoff type via variational methods, Bull. Austral. Math. Soc., 74 (2006), 263-277.
- [3] J. H. Jin, X. Wu; Infinitely many radial solutions for Kirchhoff-type problems in ℝ<sup>N</sup>, J. Math. Anal. Appl., 369 (2010), 564-574
- [4] G. Kirchhoff; *Mechanik*, Teubner, Leipzig, 1883.
- [5] P. L. Lions; The concentration-compactness principle in the calculus of variations. The limit case I. Rev. Mat. Iberoamericana, 1 (1985), 145-201.
- K. Perera, Z. T. Zhang; Nontrivial solutions of Kirchhoff-type problems via the Yang index, J. Differential Equations, 221 (2006), 246-255.
- [7] M. Struwe; Variational Methods, Springer-Verlag, New York, 1990.
- [8] Y. Y. Sun, S. P. Wu, Y. M. Long; Combined effects of singular and superlinear nonlinearities in some singular boundary value problems, Journal of Differential Equations, 176 (2001), 511-531.
- [9] X. Wang, L. Zhao, P.H. Zhao; Combined effects of singular and critical nonlinearities in elliptic problems, Nonlinear Analysis, 87 (2013), 1-10.

Qin Li

School of Statistics and Applied Mathematics, Annui University of Finance and Economics, Bengbu, Annui 233030, China

E-mail address: 294973245@qq.com

ZUODONG YANG (CORRESPONDING AUTHOR)

School of Teacher Education, Nanjing Normal University, Nanjing, Jiangsu 210097, China

*E-mail address*: yangzuodong@njnu.edu.cn

Zhaosheng Feng

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF TEXAS-RIO GRANDE VALLEY, EDINBURG, TX 78539, USA

E-mail address: zhaosheng.feng@utrgv.edu